3=-ZIMMER-WOHNUNG

Treppenhaus

Eingang/
Garderobe/Korridor
11.5m?

*(12.6 m?)

Reduit
2.0m?

[@

Zimmer
121 m?

Wohnen
25.7 m?
*27.1 m?)

Zimmer
14.6 m?

Loggia
11.2m?
*(11.8m?)

offene Loggia

bei B.2.01

Nettowohnflache

Loggia

91.5 m?
bew. *95.0 mM?2

11.2 m?

.0G

2.0G
3.0G

W W N N = =

N

.0G
.0G
.0G
.0G
.0G
.0G

.0G

2.0G

Wohnung A.1.05 gespiegelt
Wohnung A.2.04
Wohnung A.3.05 gespiegelt

Wohnung B.1.02
Wohnung B.1.05 gespiegelt
Wohnung B.2.01* gespiegelt
Wohnung B.2.03 gespiegelt
Wohnung B.3.02
Wohnung B.3.05 gespiegelt

Wohnung C.2.02
Wohnung C.2.04

Massstab 1:100

0

1

2

3m



